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QUESTION 1

What does the following SQL administration command do? EXECUTE FUNCTION task("onmode", "wi", "/
tmp/cfg_20130601");

A. Apply the new values for all configuration parameters in memory.

B. Reset the values for dynamically updatable configuration parameters to the default values and save them in
onconfig.

C. Apply the new values for all dynamically updatable configuration parameters from the file "/tmp/ cfg_20130601" in
memory.

D. Apply the new values for all dynamically updatable configuration parameters from the file "/tmp/ cfg_20130601" and
save them in onconfig.

Correct Answer: C

QUESTION 2

Which type of device does Primary Storage Manager support?
A. File

B. Tape

C. Directory

D. Named pipe

Correct Answer: A

QUESTION 3

Which table attribute defines the percentage of changes (insert/update/delete) threshold to consider the statistics as
stale?

A. STATAUTO

B. STATFORCE
C. FORCE AUTO
D. STATCHANGE

Correct Answer: D

QUESTION 4
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Which two types of locks are used by Informix to access a shared memory buffer? (Choose two.)
A. Byte

B. Shared

C. Update

D. Exclusive

E. Promotable

Correct Answer: BD

QUESTION 5

In an organization, all employees are authenticated via domain wide Kerberos single sign- on. The DBSA wants to
provide access to the database server for an employee without requesting the Operating System (OS) administrator to
create a OS level user account. Which Informix feature does the DBSA need to leverage?

A. Mapped users

B. Role based users

C. Table level access for users

D. Label based access for users

Correct Answer: A
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